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1. Discuss the conformal transformation w = e?
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2. Find the conformal transformation which transforms z = oo,i{,0 intow = =1, —(, 1
Also find fixed points. :
[07] |cos L3
3. sinmz?*+cosnz? 7] =
Evaluate [, iz 4% where C: |Z] |
. e tyh_ o3l i ]
4 Find the analytic function whose real part is u = ’—CXJZ’JF—;X . LU |
5  State and prove Cauchy’s integral formula. [07] C€O3| L3
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1. Discuss the conformal transformation w = e* [08] |CO3 L3
i
\
2. Find the conformal transformation which transforms z = 0,{,0 into w=  [07] CO3 L3
—1,—1, 1. Also find fixed points. _
[07] CO3 L3
3. sinmz®+cosmz? s 7] = |
Evaluate [, D) 4% Where C: |Z]
. . . : tyt_y 071 (Co3| 13 |
4 Find the analytic function whose real partisu = % . 107]
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5 State and prove Cauchy’s integral formula.




6. Show that f(z) = z", where n is a positive integer is analytic and hence find its
derivative.

7. Five dice were thrown 96 times and the numbers 1, 2 or 3 appearing on the face of the
dice follows the frequency distribution as below.

No. of dice showing 1,20r3 (0| 1]2 |3 |4 |5

Frequency 31812435197

Test the hypothesis that the data follows a binomial distribution.( 245 = 11.07 for

sdt)

8. Three boys A, B and C are throwing a ball to each other. A always throws the ball to B
and B always throws to C. C is just as likely to throw the ball to A as to B. If C was
the first person to throw the ball, find the probability that for the fourth throw,(a) A
has the ball (b) B has the ball (¢) C has the ball.

6.  Show that f(z) = z", where n is a positive integer is analytic and hence find its
derivative.

7. Five dice were thrown 96 times and the numbers 1, 2 or 3 appearing on the face of
the dice follows the frequency distribution as below.

No. of dice showing [,20r3 (0| 1(2 |3 (4 |5

Frequency 3[18[24[35[19(7

Test the hypothesis that the data follows a binomial distribution.( 2,5 = 11.07 for

5d.f)

8. Three boys A, B and C are throwing a ball to each other. A always throws the ball
to B and B always throws to C. C is just as likely to throw the ball to A as to B. If C
was the first person to throw the ball, find the probability that for the fourth
throw,(a) A has the ball (b) B has the ball (¢) C has the ball.
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